USE OF ENGLISH


Time: 20 minutes


Task 1. For questions 1-11 complete the following article by writing each missing word in the correct box on your answer sheet. Use only one word in each gap.


LIGHT POLLUTION

Many ancient civilisations assumed the earth to (0) …be … the centre of the universe, and it was (1) ............... until 1610, with Galileo's invention of the telescope, that it was possible to prove that, (2).............. to popular belief, the earth (3) ............... fact revolved round the sun. Telescopes have improved greatly (4) ............... then, but the exponential growth of cities in the last few decades has brought new difficulties in that the glow from all the lights interferes with the very dim signals from the stars. To (5) ............... extent, a solution has been found by building observatories in places where this interference can be cut (6) ............... a minimum. Mauna Kea, the largest observatory in the world, was built thousands of metres (7) ............... sea level, in the crater of a dormant volcano in Hawaii. Although such strategically placed observatories were successful, leading astronomers realised that, if the science was to progress, even more radical steps (8) …………. have to be taken, and this (9) ............... to the building of the Hubble Space telescope in 1990. As Hubble operates in space, it is completely unaffected (10) …………… light or atmospheric pollution. It can detect galaxies that have never been seen, and can transmit images of even the (11) ............... distant stars at the very edge of the universe.


Task 2. For questions 12-20, read the text below and decide which option А, В, С, or D best fits each gap.

HOLIDAY COMPLAINTS

There are too many people in Britain today who are 0) …ready… to complain rather than enjoy their holidays and who 12) ………. the word about how easy it is to 13) ………. money back from the travel industry which appears to have become paralyzed with fear over bad publicity.
I recently heard a middle-aged woman protesting bitterly that she had had to pay for the hire of a golf cart during an all-inclusive golfing holiday in Jamaica and demanded back all the money spent on the cart 14) ………. with more for the ‘distress’ she had been 15) ………. . A friend of mine recently 16) ……… a group of young lads deciding, before they even 17) ………. the aircraft, what they were going to complain about to get a refund on the cost of their holiday and which high-value item would be ‘lost’ during the 18) ………. .
Last month a Manchester man led a ‘mutiny’ of 200 passengers on a 19) ………. ship because, he said, the bingo prize was not big enough. This week I heard details of a honeymoon couple who were sent a big bouquet of flowers by the tour operator and then complained that it was too big and 20) ………. them from moving freely about their hotel room. These types, who we have all met in airport lounges, just make the rest of us suffer, when they lie and fool tour operators into handing cash back.

0) A used	 B accustomed C ready 	D fit
12) A give	 B spread	 C pass 	D tell
13) A get	 B take		 C ask 		D award
14) A plus	 B together	 C as 		D extra
15) A caused	 B suffered	 C done 	D made
16) A listened	 B overheard	 C remarked 	D suspected
17) A took	 B landed	 C boarded 	D caught
18) A travel	 B ride 	 C excursion 	D trip
19) A ferry	 B tour 	 C cruise 	D cargo
20) A harmed	 B prevented 	C limited 	D reduced
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